
L. 松线装置 / Tension release mechanism
参照号 零部件序号 数量 零部件名称 NAME OF PARTS RM

1 SB6261001 1 轴3X50 SHAFT 3X50
2 SB1192001 2 松线杆套筒 TENSION RELEASE BAR BUSH
3 SC4800001 1 DT电磁铁组件 342J DT SOLENOID ASSY 342J
4 SB1179001 1 电磁铁缓冲垫圈 SOLENOID CUSHION
5 SB7244001 1 平垫圈 L4 WASHER PLAIN L 4
6 021400306 1 六角螺母 M4 NUT 3 M4
7 017401015 1 螺栓 M4X10 BOLT M4X10
8 SB4380001 1 电磁铁安装板 SETTING PLATE SOLENOID
9 017400802 1 螺栓 M4X8 BOLT M4X8
10 028040246 1 弹簧垫圈 2-4 WASHER SPRING 2-4
11 SB3848001 1 平垫圈 M4 WASHER PLAIN M 4
12 SC0769001 1 DT 张力电磁铁 342H S DT TENSION SOLENOID 342H S
13 062500816 2 螺钉 M5X8 SCREW PAN M5X8
14 SB0787101 1 电磁铁罩 SOLENOID COVER
15 060400516 2 螺钉 M4X5 SCREW BIND M4X5

BAS-341JX/342JX 38


